PORTUGALIAE MATHEMATICA

ISSN 0032-5155

VOLUME 38

1 9 7 9

Edição da SOCIEDADE PORTUGUESA DE MATEMÁTICA

PORTUGALIAE MATHEMATICA
Av. da República, 37-4.º

1000 LISBOA—PORTUGAL

MIXED GENERATING RELATIONS FOR POLYNOMIALS RELATED TO KONHAUSER BIORTHOGONAL POLYNOMIALS

ву

M. A. HUSSAIN AND S. N. SINGH

Department of Mathematics Banaras Hindu University Varanani 221005, India

ABSTRACT. Recently, Carlitz has derived general results on generating functions by making use of the Lagrange expansion. In the present paper, results of this kind are derived for the polynomials related to Konhauser biorthogonal polynomials, which were studied by Karande and Thakare.

1. Introduction

Konhauser [6] studied the biorthogonal sets $Z_n^{\alpha}(x;k)$ and $Y_n^{\alpha}(x;k)$ which satisfy the following condition:

$$\int\limits_{0}^{\infty}x^{\alpha}\,\exp(-x)\mathrm{Y}_{i}^{\alpha}(x;k)\,\mathrm{Z}_{j}^{\alpha}(x;k)\,dx\left\{ \begin{array}{ll} =0, & i\neq j \ , \\ \\ \neq0, & i=j \end{array} \right. \label{eq:continuous}$$

$$(i,j=0,1,2,\ldots),$$

where k is a positive integer and $\alpha > -1$.

Carlitz [2] stated that

$$\sum_{n=0}^{\infty} Y_n^c(x;k)t^n = (1-t)^{-\frac{(c+1)}{k}} \exp\{-x[(1-t)^{-1/k}-1]\}.$$
 (1.1)

Received April 28, 1979.

For k=1, both the polynomials reduce to Laguerre polynomials. We designate $Z_n^{\alpha}(x;k)$ and $Y_n^{\alpha}(x;k)$ as the Konhauser biorthogonal polynomial sets of the first and second kinds, respectively. Further, Karande and Thakare [5] studied the polynomials $B_n^c(x;k)$, $S_n^{(\alpha,\beta)}(x,y;k)$ and $T_n^{(\alpha,\beta)}(x,y;k)$ related to the polynomials $Y_n^c(x;k)$ having generating relations

$$\sum_{n=0}^{\infty} B_n^c(x;k)t^n = (1+t)^{-\frac{(c+1)}{k}} \exp\left\{x[(1+t)^{1/k}-1]\right\}, \tag{1.2}$$

$$\sum_{n=0}^{\infty} S_n^{(\alpha,\beta)}(x,y;k)t^n = (1+t)^{\frac{\alpha-\beta}{k}} \exp\{(x-y)[(1+t)^{1/k}-1]\}$$
 (1.3)

and

$$\sum_{n=0}^{\infty} T_n^{(\alpha,\beta)}(x,y;k)t^n = (1-t)^{\frac{\alpha-\beta}{k}} \exp\{-(y-x)[(1-t)^{-1/k}-1]\}$$
(1.4)

Clearly, $B_n^c(x;k)$ is uniquely determined, and for k=1, it reduces to $A_n^c(x)$ defined by Srivastava [7].

The aim of the present paper is to derive some mixed generating relations for $Y_n^{\alpha}(x;k)$, $B_n^{c}(x;k)$, $S_n^{(\alpha,\beta)}(x,y;k)$ and $T_n^{(\alpha,\beta)}(x,y;k)$. The method used is mainly due to Carlitz [4].

2. By Taylor's theorem, relation (1.1) can be written as

$$Y_n^c(x;k) = \frac{1}{n!} \left[D_t^n \left[(1-t) - \frac{(c+1)}{k} \exp\left\{ -x \left[(1-t)^{-1/k} - 1 \right] \right\} \right] \right]_{t=0}$$
(2.1)

Replacing x by x + ny, this becomes

$$Y_n^c(x+ny;k) = \frac{1}{n!} \left[D_t^n \left[(1-t) - \frac{(c+1)}{k} \exp \left\{ -(x+ny) \left[(1-t)^{-1/k} \right] \right\} \right]$$

$$-1]\}]]_{t=0} (2.2)$$

Let

$$f(t) = (1-t)^{-\frac{(c+1)}{h}} \exp\left\{-x[(1-t)^{-1/h}-1]\right\}$$

and

$$\phi(t) = \exp\{-y[(1-t)^{-1/k}-1]\},\,$$

where f(t) and $\phi(t)$ are analytic about the origin and $f(o) = \phi(0) = 1$.

Now, following Carlitz's approach [4], we obtain

$$\sum_{n=0}^{\infty} Y_n^c(x+ny;k)u^n = \frac{(1-t)^{-\frac{(c+1)}{k}} \exp\{-x[(1-t)^{-1/k}-1]\}}{1+\frac{y}{k}(\frac{t}{1-t})(1-t)^{-1/k}},$$

where (2.3)

$$u = t \exp \left\{ y \left[(1 - t)^{-1/k} - 1 \right] \right\}. \tag{2.4}$$

The result is presumably new.

If we put $\rho = \frac{t}{1-t}$, (2.3) becomes

$$\sum_{n=0}^{\infty} Y_n^c(x+nt;k)u^n = \frac{(1+\varrho)^{-\frac{(c+1)}{k}} \exp\left\{-x[(1+\varrho)^{1/k}-1]\right\}}{1+\frac{y}{k} \varrho(1+\varrho)^{1/k}},$$

where (2.5)

$$u = \nu(1+\nu)^{-1} \exp\left\{y\left[(1+\nu)^{1/k} - 1\right]\right\}. \tag{2.6}$$

Next, by (2.1), we have

$$Y_n^{(c+Dn)}(x;k) = \frac{1}{n!} \left[D_t^n (1-t) - \frac{(c+Dn+1)}{k} \exp\{-x \left[(1-t)^{-1/k} - 1 \right] \right] \right]_{t=0}.$$

We, therefore, take

$$f(t) = (1-t)^{-\frac{(c+1)}{h}} \exp\{-x[(1-t)^{-1/h}-1]\}$$

and

$$\phi(t) = (1-t)^{-D/k} ,$$

where f(t) and $\phi(t)$ are analytic about the origin and such that $f(0) = \phi(0) = 1$.

Now making use of a result due to Carlitz [4, p. 521, Theorem 1], we get

$$\sum_{n=0}^{\infty} Y_n^{(c+Dn)}(x;k)u^n = \frac{(1-t)^{-\frac{(c+1)}{k}} \exp\{-x[(1-t)^{-1/k}-1]\}}{1-\frac{D}{k}(\frac{t}{1-t})},$$

where (2.7)

$$u = t(1 - t)^{D/k}. (2.8)$$

Making the same substitution, as before, (2.7) becomes

$$\sum_{n=0}^{\infty} Y_n^{(c+Dn)}(x;k)u^n = \frac{(1+v)^{\frac{(c+1)}{k}} \exp\left\{-x[(1+v)^{1/k}-1]\right\}}{1-\frac{D}{k} v},$$

where (2.9)

$$u = \rho(1+\rho)^{-1-D/h}. \tag{2.10}$$

It may be of interest to note that (2.7) and (2.9) were obtained earlier by Calvez and Génin [1] by a different method.

On taking k=1, the Calvez-Génin formula (2.7) or (2.9) gives the corresponding result due to Carlitz [3, p. 826, (8)] for Laguerre polynomials.

Indeed one can now get a mixed generating function for $\mathbf{Y}_n^{(c+\,\mathrm{D}n)}(x\,+\,ny\,;k)$ as

$$\sum_{n=0}^{\infty} Y_n^{(c+Dn)}(x+ny;k)u^n = \frac{(1-t)^{-\frac{(c+1)}{k}} \exp\{-x[(1-t)^{-1/k}-1]\}}{1-\frac{D}{k}\left(\frac{t}{1-t}\right)+\frac{y}{k}t(1-t)^{-1-1/k}},$$

where (2.11)

$$u = t(1-t)^{D/k} \exp\left\{y[(1-t)^{-1/k}-1]\right\}^{-1/k}.$$
 (2.12)

For y = o, (2.11) reduces to (2.7) and for D = o, it reduces to (2.3).

If we put $v = \frac{t}{1-t}$, (2.11) becomes

$$\sum_{n=0}^{\infty} Y_n^{(c+Dn)}(x+ny;k)u^n = \frac{(1+\rho)^{\frac{(c+1)}{k}} \exp\{-x[(1+\rho)^{1/k}-1]\}}{1-\frac{D\rho}{k}+\frac{y}{k}\rho(1+\rho)^{1/k}},$$

where (2.13)

$$u = v(1+v)^{-1-D/k} \exp \left\{ y \left[(1+v)^{1/k} - 1 \right] \right\}. \tag{2.14}$$

For k = 1, both (2.11) and (2.13) were given earlier by Carlitz [4, p. 525, (5.2) and (5.5)].

3. General generating functions like (2.11) can also be obtained for

$$B_n^c(x;k)$$
, $S_n^{(\alpha,\beta)}(x,y;k)$ and $T_n^{(\alpha,\beta)}(x,y;k)$,

We omit the proof which runs parallel to that of the above results. Here we mention the results directly.

$$\sum_{n=0}^{\infty} B_u^{(c+Dn)}(x+ny;k)u^n = \frac{(1+t)^{-\frac{(c+1)}{k}} \exp\{x[(1+t)^{1/k}-1]\}}{1+\frac{D}{k}(\frac{t}{1+t})-\frac{y}{k}t(1+t)^{-1+1/k}},$$

where (3.1)

$$u = t(1+t)^{D/h} \exp \left\{-y\left[(1+t)^{1/h}-1\right]\right\},\tag{3.2}$$

$$\sum_{n=0}^{\infty} S_n^{(\alpha+vn,\beta+8n)}(x+nz_1,y+nz_2;k)u^n$$

$$= \frac{(1+t)^{\frac{\alpha-\beta}{k}} \exp\left\{(x-y)[(1+t)^{1/k}-1]\right\}}{1-\left(\frac{\nu+\delta}{k}\right)t(1+t)^{-1}-\frac{(z_1-z_2)}{k}t(1+t)^{-1+1/k}},$$
 (3.3)

where

$$u = t(1+t)^{-\frac{(v+\delta)}{h}} \exp\left\{-(z_1 - z_2)[(1+t)^{1/h} - 1]\right\}, \qquad (3.4)$$

$$\sum_{n=0}^{\infty} T_n^{(\alpha + vn, \beta + \delta n)}(x + nz_1, y + nz_2; k)u^n$$

$$= \frac{(1-t)^{\frac{\alpha-\beta}{k}} \exp\left\{-(y-x)[(1-t)^{-1/k}-1]\right\}}{1+\frac{\nu+\delta}{k} t(1-t)^{-1}-\frac{(z_1-z_2)}{k} t(1-t)^{-1-1/k}},$$
 (3.5)

where

$$u = t(1-t)^{-\frac{(v+\delta)}{h}} \exp\left\{-(z_1-z_2)[(1-t)^{-1/h}-1]\right\}$$
 (3.6)

Acknowledgement

The authors wish to express their sincere thanks to Prof. H. M. Srivastava, of the University of Victoria, for his valuable suggestions.

REFERENCES

- [1] L. C. Calvez and R. Génin, Applications des relations entre les functions génératrices et les formules de type Rodrigues, C. R. Acad. Sci. Paris Sér. A-B 270 (1970), A41-A44.
- [2] L. CARLITZ, A note on certain biorthogonal polynomials, Pacific J. Math, 24 24 (1968), 425-430.

- [3] L. CARLITZ, Some generating functions for Laguerre polynomials, Duke Math. J. 35 (1968), 825-827.
- [4] L. CARLITZ, A class of generating functions, SIAM J. Math. Anal. 8 (1977), 518-532.
- [5] B. K. KARANDE and N. K. THAKARE, On polynomials related to Konhauser biorthogonal polynomials, Math. Student 43 (1975), 67-72.
- [6] J. D. E. Konhauser, Biorthogonal polynomials suggested by the Laguerre polynomials, Pacific J. Math. 21 (1967), 303-314.
- [7] K. N. Srivastava, Some polynomials related to the Laguerre polynomials, J. Indian Math. Soc. (N.S.) 28 (1964), 43-50.